mean # PXL hits vs eta

<pixel hits>

Ratio

0.95

n

| mean # PXL Laye

rs with measurement vs eta

4.5

4

<pixel layers>

S
0.52— .........

o T
) TS s s s
.
o
L

3
@
o
5
3
[0)]
—{
Y
0
2.
7
<

<strip hits>
=
N

—=— DQM_noFitZ_siepZ_tibar-phasel-newgeom
—e— DQM_Fit2_step2_ttbar-phasel-newgeom
—— DQM_Fit2AndCPEGeneric_step2_ttbar-phasel-newgeom

—+— DQM_Fit2AndCPETemplate_step2_ttbar-phasel-newgeom

>

\I

SN
IIII|IIII|IIII|IIII|IIII|IIII|IIII|IIII

<strip layers

...........

Ratio

&




	Contents
	Page 1


